2005 FE WRAFI EERHERE(4)

L. ROBAE f(x,y), ¢(t), Y(t) 1IT2WT, AR 2(t) = fe(t), (1)) DWIT 2/ (t) 23K
o k.

(1) flzy) =2 +ay+y° o(t) =12+ 1, y(t) = 2t
(2) flzy) =2y’ + 2% +3y% p(t) =17, (1) = 1°
(3) fla,y) =sin(2x —y), o(t) = 3t%, ¥(t) = 5t*
(4) flzy) =y, o(t) =€ (t) = e
(5) f(z,y) =2 +y*, o(t) =sint, P(t) = cost
(6)  flx,y) =ay? + 23, o(t) = sin2t, (t) = cos 3t
9. 2= flu,y) DO D & X ROBIFL (1) IR L, 2/(8) & 2"(t) %k k.
(1) =(t) = f(2t,31) (2) =(t) = f(%¢)
(3) () = f(e*,e¥) (4) () = f(sint, cost)

3 KOBIH = = f(x,y), pluv), ¥(u ) 22T, ARBIH =(u,0) = f(p(u,0), $(u,0))
DIRIRIT 2, 20 Z KD K.

(1) Floy) =2+ 2y, o) = v+ v, $(u0) = uw
(2) flz,y) =2y, p(u,0) =u+v, Plu,v) =u—v
(3) flz,y) = 2%+ 93, v(u,v) = ucosv, ¥(u,v) = usinv

(4)  f(z,y) = 2®+ay+y?, p(u,v) = ucosv, Y(u,v) = usinwv



